Quiz 3 MATH 153, SPRING 2010

SECTION (OR TA): NAME:

Let b be a positive integer greater than 1, and write b® = uwv where u and v are positive integers
such that u > v and u, v are both even or both odd.

@) If ¢ > a > 0 are integers such that a + ¢ = u and ¢ — a = v, explain why a® + b3 = c°.
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(ii) Find two positive integral solutions of aZ + b3 = c? with b = 6.
Hint: Factor 63 = 216 two ways.
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Quiz 3 MATH 153, SPRING 2010
SECTION (OR TA): NAME:

Suppose that a, b, and ¢ are positive integers such that a3 + b3 = ¢2.

(i) If k is a positive integer, show that there is some d > 0 such that (k?a)? + (k2h)3 =d2.
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(i) Using (i) and 13 + 23 = 32, 23 + 23 = 42, find two solutions to a3 + b3 = ¢2 of the form
(a’,bg,c’), (a”,by,c”) for some by > 2.
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